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AGRICULTURE (PAPER-II)

Time Allowed : Three Hours ! Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH. :

Candidate has to attempft FIVE aquestions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Ques_tion—cum—Answer Booklet must be clearly struck off.
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Wus—A [/ SECTION—A

1. e e § @ TEF F S o 150 W A AR

Answer the following questions in about 150 words each : ~ 10x5=50

() TS % WA AU & W H IUYH IS "iga foean ¥ qui Hifem)

Elaborate Mendel’s law of ‘independent assortment’ by giving suitable example.

- (b) TG SIEHHI I I AU % B gRenfia FIRT) wHe guR % fAg g seEm S R
SIrT 27

Define ‘pure lines’ along with their characteristics. How are they used in crop
improvement?

(c) =fEF Wy iR 6 = e N % g6y 3§ age do 3o it adwm il i we
SHifsg | s :
Explain Intellectual Property Rights. Give the present status of IPR in relation
to agriculture.

(d) U % ST Al TR T A | ged # aRRem, Siewn o) die B st
vl 1 9viA i

Explain the mechanism of absorption of salts. Give potassium, calcium and
iron deficiency symptoms in plants.

(€) T S IR H IHM R STH It Sean ol b foee hife ) wa § wmrEE g e W
AT FT 3P HIT |

Discuss sterility systems used in hybrid seed production. Briefly mention
chemically induced male sterility.

2. frefafas wei ¥ 3w R

Answer the following questions : 12%x4=50

(@) | EES] aua w g ST s STEie enur iR Ridwedt (stdd) @™
el F wHe o o % Truior i fafwi # v Fifsw)

Define ‘general combining ability’. Explain the genetic basis and methods for
estimating SCA in diallel mating system.

(b) - IR Q- & Agalreh RO F=1 87

What are the genetic consequences of self- and cross-pollination?

(c) TTHRE FH hl sl (gg i) gran it fae=m i)

Discuss the sui generis protection of traditional knowledge.
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(d) ¥ 9RY BRI S 1 STENINYT Y BT &7 WSl FN W h @Y H) YN B el
faftm s it = we Hifsg

How is water absorbed by land plants? Explain various external conditions
affecting water absorption by roots.

- 8. F=fafed w= % sw 4w

Answer the following questions : 12%2x4=50

(@) A feleblell[RedlnTor 1 uiF ITIH Iqme0r <4 g Hif |
Explain oxidative decarboxylation citing suitable example..

(b) TATH H FHEME e % THRT % qads yEm w1 9ol Hifv) wmy @ K e 9
G Hie|
Give evidences supporting translocation of organic solutes in phloem. Explain
Ringing experiment.

(c) W <l TR e g A WH ofis § 9 F@ Feiftg w0 6 sea sgafies @ 9 Aifewmen?

Given the seed from a male sterile line of corn, how would you determine if the
sterility is genetic or cytoplasmic?

(d) A-gfedie FHedart & fawm 7 <A ffifen o) S sriasem % e B fREm Hiftg

Discuss the importance of gene pyramiding and gene introgression in
developing disease-resistant cultivars.

4, fmfafad st & 3w Hfg
Answer the following questions : 1272x4=50

(@) T, a 3R S F SeaEdAt & e e A fre Fifv) T @ Rl % am b
e I SRadHl o1 39T F wEa § SRR o

Discuss the practical applications of mutations in wheat, rice and barley.
Name two varieties of wheat released by the use of induced mutations in India.

(b) W Hverwor i ety foao dfg) mekafel ok gEwREdl % W gEehl ger
hifsra |

Give an account of mechanism of protein synthesis. Compare it with
prokaryotes and eukaryotes.

(c) ¥RG i 3fveETies 3R A= Se-gw gonfed) &1 e R

Explain formal and informal seed supply systems in India.

(d) <TeEsH IR forg @ % wen fadg wonfia fifvm) el renf % wwo @ we fifm

Differentiate between transpiration and guttation. Why permanent wilting
takes place?
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Tie—B / SECTION—B

5. f=fafag woat & @ 9@ &) IW @ 150 v J 4N

6.

Answer the following questions in about 150 words each : 10x5=50

@) e el T R A 57 e A e % s # g ()
UfhaT & HE™ ! T i)

What are the important new varieties of carnation? Explain the importance of
pinching operation for producing quality carnation.

(b) AR R I GH % fi" TR S 9 H6Y e Him)

Explain the connection between anaerobic and aerobic respiration.

(c) et & s frmw F e el el % ool ok gadff AeEl % wea gom Fi

Compare the inoculative and augmentative releases of natural enemies for
biological control of pests.

(d) =w <l grese o ol % wmed IR geaad it fademr fife)

Discuss the strength and weakness of public distribution system in the
country.

(e) TATEHITE & T} FedaRl & TH H e Faw Fad it ffy = avia i

Describe the procedure of tissue culture for multiplying new cultivars of
gladinhis.

Frafafaa o % Iw Y

Answer the following questions : 1272%x4=50

() vesfed, -89 iR pAifta SHEEmel # @eE 3 & fay & JeeE Sh-d 87

What are the special schemes for providing food grains to underprivileged,
destitutes and malnourished populations?

(b) e 3R VX goal I A St % Y 3w drenfeR @ faao R

Explain the production technology for commercial cultivation of marigold and
aster flowers.

(c) 3w Tee R e &ffd wR it Thewd 3mge fio Wio ¥ FT mEEqUl &7

Why are the concepts of economic threshold and economic injury levels
important in IPM?

(d) T amme H afeR #) T AR IR Se-Sraenye 1 &€ i 99Ifad S ad HRe H
ol I

Explain the phenomenon of passive absorption and give the factors affecting
the rate of absorption of water.
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7. Fefafes wAt % @ G

Answer the following questions : 12Y2%4=50
(@) ) HL 3Hdd el SN HUSROT-STISH it fear fohe R FHafa st 82 w5 well iR
wfesrl #§ IRl g9 % IR § SaEe|

How does maturity control the post-harvest quality and storage life of fruits?
Give maturity indices for some fruits and vegetables.

(b) WA H @ AR 9N gean it aaam Rl i e Hif)

Explain the piesentl slatus of food and nutrition security in India

i 2 AL ALY Add AdalAacR.

(c) HrE" AT e, HEMRI TR 3Mmgo o THo Y feramrmn Hifdiy

Discuss plant disease occurrence, epidemics and IDM.

(d) TUSTEH 61 HiEaT & 30 Wlhadl W USH 9160 YHE %1 T8 i | USeH aiegar 6 fames
fafim et =1 9l ifsg)

Explain the effect of concentration of enzyme on its activity. Give different
methods for regulating the enzymic activity.

8. T=faRan w Rwfiml fifaw .
Write notes on the following : 12%2x4=50

(@) &fest 3R Feair gledy

Horizontal and vertical resistance
(b) AT fafrtor i Hre-fmm

Ionizing radiations and insect control
(c) WFEEA-TAS T AR SEAT TATH

Vascular wilt and xylem wilt

(d) T TRV T T Wi o wiew

Red flour beetle and Angoumois grain moth
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